
> F_UTL:=[2*(1+gamma^2)*xD*b1-(1+gamma^2)^2*(b2/3+b3 

+b4)-(1+gamma^2)*(b2/3-b4)-(b2/3-b3)];

 := F_UTL
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> F_UTLx:=expand(F_UTL);

 := F_UTLx
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> F_UTL_x:=collect(F_UTLx,[b1,b2,b3,b4],factor);

 := F_UTL_x
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> F_UTL_xg:=combine(F_UTL_x,power);

 := F_UTL_xg
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> F_UTT:=-[2*(1+gamma^2)*xD*b1-gamma^2*(b2/6-b3/2)];

 := F_UTT
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> F_UTTx:=expand(F_UTT);

 := F_UTTx
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> F_UTT_x:=collect(F_UTTx,[b1,b2,b3],factor);

 := F_UTT_x
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> A_zz_b1:=F_UTT_x+epsilon*F_UTL_x;

A_zz_b1
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> Azz_b1x:= expand(A_zz_b1);
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> Azz_b1:=collect(Azz_b1x,[b1,b2,b3,b4],factor);
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